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N = 0] &F AF S & AN A
20149 = 20 & SAMEASHELSH &A
2A: 2o
HZH: EHT] Jf e
Sl BXONEXT el (SAINLAISHEL 3 AH) (2 &HH)
_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SO 2,212,703 12,354,328 N 10,141,625
E Rl OHE 528,047 10,544,881 A~ 10,016,834
BRI X2 22 (SAHLAISHIEE S AH) 516,047 514,969 1,078
EHXIOHE X AH| 516,047 514,969 1,078
101 e1214| 16,047 14,969 1,078
04 JIZtHI22XNEE S 16,047 14,969 1,078
O SXNLNT AZ SZHY o2
41,6803 = ! 4,168
O 0L eHF3EH o2
41,680& * 3 ! 2,501
O 28 MA X AEIZAN o182
41,6803 = 3¥H * 5 = 9,378
401 Al HI L 2 0HHI 500,000 500,000 0
01 Al& H| 496,400 496,400 0]
O BHXIHE AR X & H| 2 AF(KHOHCH=H
100,000,000& = 5JH A % 99. 28/100 496,400
03 A2 HH]| 3,600 3,600 0]
O BHXIHL AR X A H| 2 AF(KHOHCH=H
100,000,000& * 50 A = / 00 3,600
SHEX KL (S AIHLAILHELHS H) 12,000 10,029,912 A 10,017,912
Sd X2 A 10,800 10,026,912 A~ 10,016,112
203 € R =& 10,800 12,000 A 1,200
03 AIEH =& 2 F X Y| 10,800 12,000 A 1,200
O S ANEAIEFA 10,800,000& = 14! 10,800
ol g1 8] 1,200 3,000 A 1,800
801 ol bl 1,200 3,000 A 1,800
01 olldl bl 1,200 3,000 A 1,800
O olidld] 1,200,000 * 14! 1,200
HMSHAY (2EHgn) 209,656 209,447 209
QIHESAH|(ZAINEAIEHIEL 3 AH) 96,383 93,698 2,685
oled A H| 96,383 93,698 2,685
101 e1214| 96,383 93,698 2,685
3 RIHLEZZXE > 96,383 93,698 2,685
O AEIERAIA 85,763
o Jlgg &z 1282
1,370,000& * 198 = 1201 & 16,440
o Jlgg UaZ 10ss
1,350,000 * 19 = 1201 & 16,200
o JE22 UAZ 45
1,290,000& = 1 = 1204 15,480
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o dl= 48,120,000 = 4/12 16,040
o NEE 120,000& = 38 = 1201 & 4,320
o N2 fSdE 5,895
- A= 1232
9,310& * 1H » 12A12F = 1200 & * 150% 2,01
- &z 1083
9,180& * 198 * 12A12F = 129H& * 150% 1,983
- O 458
8,800 * 1H » 12A12F = 1200H& * 150% 1,901
o AXREFIH=E 2,188
- OA=Z 1288 74,7803 * 1% » 10 748
- &z 1083 73,5203 * 1% = 10 736
- A2 452 70,4003 * 1¥ = 10¢ 704
o @A FIttl 200,000& = 3H « 23| 1,200
o MIEEE 8,000,000& * 14! 8,000
O 2482 = 2 2eiEAM E2 =S4l
7,000% * 3" » 102 » 12042 2,520
O 2422 MEHEA L0
20,0002 * 3H » 10 » 1201 & 7,200
O B422 dEBiZAE TI=2H & S5t
300,000& = 3% = 13 900
JI2ZH(ZANLAISHISESIH) 113,273 115,749 AN2,476
JlE2&tl 113,273 115,749 AN2,476
201 L2l 63,188 66,954 AN 3,766
01 At 2t 2l 60,584 62,382 AN1,798
O Yit=Z2Hl SEAH & 32,608,000& * 14 32,608
O H=H WA & 1,800,000& * 14l 1,800
O SEHl SHAHL 22,176,000& = 14 22,176
O Xz SWUH & 4,000,000& * 14 4,000
02 3322l 2,604 4,572 A 1,968
O 3322 % MA SdAH4
2,604,000& * 14 2,604
202 Oddl 50,085 48,795 1,290
01 S LHAYI 50,085 48,795 1,290
O BA2E SHA L 50,085,000 * 14l 50,085
SEsS(TYNL]) 1,475,000 1,600,000 125,000
BEINEB(SAINLAILHISESIA) 1,475,000 1,600,000 A 125,000
EMdXE 1,475,000 1,600,000 A 125,000
311 Y S0 K&t & 225,000 350,000 A 125,000
01 Al -2 - FXNLNLI XL S0l RS 225,000 350,000 A 125,000
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